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*  All the cumulants of Poisson distribution are:
a) =4 b) 4 ¢)o d) o?
¢ The formulac of Poisson Process is:
e Manr At = -
q) ——— e e x| e~ AaAn*
) xl! b) XI(AI)' (/\l)" d) -—xl_-
* For exponential distribution=?
Hyu=a byu<o uza du#o
o For uniform distribution, E(X?)=?
a?+ab+b? a®+ab+a’ +b (b-a)?
D=3 &) 3 c) L d =/~
e For #;(m,n) when 0 < x < 1, the F(x)=?
f 3(", n).xm-l(l — x)"ldx j;xa("]l_ln).xm-l(l_x)n—ldx
m- n-1 @ 1 m- n-
f B(m,n) R Sk f: m.x 1(1 = %) tdx
e Forthe Ponsson distribution, the E(X?) is:
a) utp? b) u—u? c) u? d) u
e Lot X be a random variable with p.d.f. f(x) = k(x —x%),0 < x < 1and 0 elsewhere, find k =?
a) -6 b) 6 ) -1/6 d) 1/6
e For /=1, u; = = U3 = calculatc Uz =7
a) -2 b) 1 ' c) -1 d o
o The cumulant generating functlon of Gamma dlstnbutlon is:
a) m.Z;!-(r——l)! b) mz—(r—l)‘ c) mZ —(r-1)! d) mz—(r—l)'
r=1 =0
e n(n—-Dr(n-1)=?
a) I'(n+1) b) nl'(n+1) ¢ In-1) d TI'(n)
o The Beta function is:
a) symmetric b) anti symmetric ¢) quadratic  d) quartic
« The variance of the hyper geometric distribution is:
N N-
a) nplslzln) b) npr}zv(“1 n) C) npq d) r
« Two random variables X &Y are independent, if f(x,y) =:
a) h(y) b) g(x) ¢) g(0h®Y) d) F(x,y)
o fyjlxi) =
f(x,,y[) b) g(x‘~) C) f(xp}") d) h(yl)
a) g(x) F@&y) k) fxy))
« For the Poisson distribution, the My(t) =7 : et
—u(et-1 pu(et-1
2) —p(et-1) b)) wE -1 ¢ e*e™H d e
« The cumulant generating function of binomial dxstnbulnon is: ‘ ,
a) nlog,[q + pe'] b) nlog,la+pe 9 ¢ log,lqg+pe] d) nlog,[q+7p]
R | 1
2 1\12
o frwp  w o rar 9 Q) d Q)
. b it af .
o For py =L Uz =5 M=% s == S calculate pg = . N
; -3 — d =
a) ;3; 7 hye ) ~% ) 3
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